Dr. Mangesh

MBBS, MD.



Super Speciality Hospital Your Trust, Our Service

OPD Prescription

UHID No. : 3093

Patient Name : Nilu Kumari

Address

: Kurhani, Muz.

B.P.

Pulse:

OPD No.

: 1529

Date

: 30/12/2024

Age / Sex

: 07 days/ F

Temp:

Weight:

sifical Condi

5MX BD

Satyam Super Speciality Hospital

Unit of Satyam Medical Care Pvt. Ltd.

Maripur (Opp. Satyam Paramedical College & Research) Muzaffarpur-842001, Bihar

Email: satyam_hospital@yahoo.com

Mob.:

भेग में; भिश्राम हिल

महाश्राभ,

नाम निवेदन हैं की मेरी वेटी लिख कुमारी होने की अभी भात वन दीन की ही है, जो वाद्य ही गंभी वाधि व्ये पुत्र ट्री है, जो की इसमा जनमात है, डीक्टर ने वातामा है भी इसकी युव की कमी; शरीर में पोष्ठ लाकों की कभी, पिससे इसके अगरीरिक लंकमण की अधिक शंभावना है जिससे २५मीरिक मिकाश योगव गरी है, (माथ ही ऑर भी विमन्त हैं। 57 वटर का कहना है भी इसका इलाज जलपू में जलप्युव काला होगा नहीं की इसका वयमा मुस्कित है। 1,24,340 / (947 8) 2925 31100 9 318 (97)217 16 दीन तक का समम लागा। अव अना वरा तम केटा है ला पाउने । भेरे पति वास चलाते हैं अर्थर में अपने हार का देख भाल करती हैं। एसे में इतना वार सम्म नहा में ला पाओं भी।

की मेरी आर्थिक एक रिम्म स्थिती को देवते हुए पेरी आर्थिक भाष करने का रूपा कार कर इसके लिए में। भी मान का सदा आभारी रहूंमी)

38 12 12

2997 29m

Attn: Mission Heal

Fund Support Requisition for Economically Weaker Section

Reference No

UHID: - 3093

OPD NO. 1529

DATE:- 30/12/2024

PROFORMA INVOICE/FUND REQUISITION REPORT	
Satyam Super Speciality Hospital (A unit of Satyam medical care Pvt. Ltd.)	
Opp. Satyam Paramedical College And Research	
Maripur, Muzaffarpur, 842001, Bihar	

Patient Name:	Nilu Kumari	
Sex:	Female	
Mother's Name:	Soni Devi	
Address:	Kurhani, Muz.	
Diagnosis:	Loss of appetite, poor absorption of nutrients,	
2.05.102.10	listlessness, higher chances of bodily infections.	
Date of Admission:	30 th /December /2024	

Overall Analysis: - Nilu Kumari, was brought to the hospital in the morning hours of 30th December 2024 in a critical condition by her parents. The condition of the kid is critical. Patient has Suffering from severe possibility of infections and underweight illness. The kid has been admitted in NICU with 24 x 7 observation of concerned doctors and necessary treatment has been initiated. There conditions can be severe and require urgent medical attention to address the deficiencies and other complications, regular assessment and check up is required to ensure no further damage and infections. The patient comes from a financially weaker section, Kid's father is a bus driver and mother a house wife who can't take care of the medical expense, so they need financial help of approx Rs. 1,24,340/- For almost 16 days of treatment.

Please provide financial support for the same.

Estimated Fund required during Hospital Stay and Overall Treatment.

S.No.	Element	Unit	Rate (INR)	Price (INR)
1	NICU	16	3500.00	56000.00
2	Nursing	16	800.00	12800.00
3	Visit	16	1000.00	16000.00
4	Procedure	1	5000.00	5000.00
5	Medicine	16	440.00	7040.00
6	RBS	16	100.00	1600.00
7	Oxygen	219	100.00	21900.00
8	Warmer	8	500.00	4000.00
				1,24,340.00

